
CanAm Roof Assembly2 seater

100-7512-00-BA
Description

Part Number

Sheet Number

Scale: NTS

File Name

C:\Vault_Local\BBM\Engineering\Projects\Zachary\Truck Accessories\Can-Am\Roof\2 seater\CanAm 2 seat roof Assembly.dwg

1 OF 1 

INFORMATION CONTAINED 

IN THIS DRAWING IS THE 
PROPERTY OF BAD BOY INC.
TRANSMISSION OF THIS 
PRINT (WHOLE OR IN PART)

BY ANY MEANS 
(ELECTRONIC, PHOTOCOPY, 
OR OTHERWISE) TO A 
THIRD, OUTSIDE PARTY IS 

PROHIBITED WITHOUT THE 
EXPRESS CONSENT OF BAD 
BOY INC.

UNLESS OTHERWISE SPECIFIED:

ALL DIMENSIONS IN INCHES
DEBURR ALL SHARP EDGES
NOT TO SCALE
PART IS FULLY DESCRIBED 

    BY CAD MODEL
 

TOLERANCES:
.XX  = ± .03
.XXX = ± .005

.XXXX = ± .0005 
ANGULAR = ± 1°

Material:

Coating:

Bad Boy Inc.
102 Industrial Drive
Batesville, Arkansas

72501

See Parts List

Parts List

REVDESCRIPTIONPART NUMBERQTYITEM

 CanAm 2 seat roof weldment379-2012-0011

ACan-Am Roof Light Bar Tab339-6112-0022

ACan-Am Roof Bracket339-6113-0043

 5/16-18 Nylon Flange Nut 013-8049-0044

 5/16" x 1" Carriage Bolt018-8065-0045

A3_16_Aluminum Black Rivet318-1001-0046

 14" Light Bar 17

 1/4-20 x 2" Carriage Head Bolt 28

 Front Seal_24175K21 19

 14'' light bar molding 110

 Side Seal_2 seater 211

 1/4-20 Nylon Insert flange Nut 013-2050-00212

  M6x1x10 hex head213

 Forged Hexagon Socket Button Head Cap Screw - MetricANSI B18.3.4M - M8 x 1.25 x 20414

 Flat metal washers for general engineering purposes (metric series)AS 1237 - 8415

A  Initial Release 6-29-17 ZWC

REVISION HISTORY

REV ECN NUMBER DESCRIPTION DATE APPROVED

1

3

6
4,5

2

7 9

10

11

8

13

12

15,16


